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Problem 1. (1 point) trig_int/trig_int05.pg

Evaluate the indefinite integral.

 = 
10
1

​ tan10 x  .
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Entered Answer Preview Result

(1/10)*([tan(x)]^10) correct

The answer above is correct.

Problem 2. (1 point) int_inv_trig/int_inv_trig02.pg

Evaluate the indefinite integral.

 = arcsin x  .
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asin(x) correct

The answer above is correct.

Problem 3. (1 point) parts/parts01.pg

Evaluate the indefinite integral.

 = x · ex − ex  .
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x*(e^x)-(e^x) correct

The answer above is correct.

Problem 4. (1 point) def_int/def_int11.pg

Evaluate the definite integral.

 = 3 sec
6
π
​ − 3 sec 0  .

preview answers

Entered Answer Preview Result

0.464102 correct

The answer above is correct.

Problem 5. (1 point) u-sub/u-sub01.pg

Evaluate the indefinite integral.

( )



 = −
5
1
​ cos 5x +

2
π
​  .
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-(1/5)*cos(5*x+(pi/2)) correct

The answer above is correct.

Problem 6. (1 point) u-sub/u-sub12.pg

Evaluate the indefinite integral.

 = ln sin x  .
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ln(|sin(x)|) correct

The answer above is correct.

Jump to Problem: 1 2 3 4 5 6
% Score: 💯 💯 💯 💯 💯 💯

Show correct answers
Show Solutions
Show problem graders

Preview Test Check Test

Show Past Answers

Page generated at 08/28/2025 at 08:09am CDT
WeBWorK © 1996-2022 | theme: math4 | ww_version: 2.17 | pg_version 2.17 | The WeBWorK Project

( )

| |

https://webwork.maa.org/

